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Cuadro 15 (continuación 2)/Table 15 (continued 2)
Nicaragua: tablas abreviadas de mortalidada

Nicaragua: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.123 0.114  100 000  11 391  92 280 0.863 b 5 203 669 52.0
1 4 0.016 0.064  88 609  5 653  339 202 0.953 c 5 111 389 57.7
5 5 0.003 0.016  82 957  1 350  411 408 0.986 4 772 187 57.5

10 5 0.002 0.012  81 607   994  405 548 0.984 4 360 779 53.4
15 5 0.004 0.019  80 612  1 568  399 143 0.977 3 955 231 49.1
20 5 0.005 0.027  79 045  2 118  389 930 0.972 3 556 088 45.0
25 5 0.006 0.028  76 927  2 175  379 198 0.971 3 166 159 41.2
30 5 0.006 0.031  74 752  2 285  368 049 0.967 2 786 961 37.3
35 5 0.007 0.035  72 467  2 542  355 983 0.961 2 418 912 33.4
40 5 0.009 0.043  69 926  3 037  342 037 0.952 2 062 929 29.5
45 5 0.011 0.053  66 889  3 536  325 604 0.939 1 720 892 25.7
50 5 0.015 0.070  63 353  4 458  305 619 0.918 1 395 288 22.0
55 5 0.020 0.094  58 895  5 543  280 618 0.886 1 089 669 18.5
60 5 0.029 0.136  53 352  7 252  248 632 0.838  809 051 15.2
65 5 0.042 0.192  46 100  8 859  208 356 0.765  560 420 12.2
70 5 0.067 0.288  37 242  10 738  159 363 0.660  352 064 9.5
75 5 0.104 0.412  26 503  10 916  105 227 0.535  192 701 7.3
80 5 0.157 0.554  15 587  8 641  56 333 0.406  87 474 5.6
85 5 0.219 0.682  6 946  4 735  22 891 0.294  31 141 4.5
90 5 0.289 0.783  2 210  1 731  6 724 0.204  8 251 3.7
95 5 0.362 0.856   479   410  1 370 0.103 d  1 527 3.2

100 ω 0.439 1.000   69   69   157   157 2.3
Mujeres/Females

0 1 0.104 0.097  100 000  9 742  93 464 0.878 b 5 510 249 55.1
1 4 0.016 0.063  90 258  5 702  345 718 0.955 c 5 416 786 60.0
5 5 0.003 0.015  84 556  1 308  419 510 0.986 5 071 068 60.0

10 5 0.002 0.012  83 248   991  413 763 0.985 4 651 557 55.9
15 5 0.004 0.018  82 257  1 464  407 623 0.979 4 237 794 51.5
20 5 0.005 0.023  80 792  1 892  399 232 0.976 3 830 171 47.4
25 5 0.005 0.025  78 900  1 996  389 512 0.974 3 430 939 43.5
30 5 0.006 0.028  76 904  2 130  379 197 0.971 3 041 427 39.5
35 5 0.006 0.031  74 775  2 322  368 069 0.967 2 662 230 35.6
40 5 0.007 0.036  72 453  2 587  355 799 0.961 2 294 161 31.7
45 5 0.009 0.043  69 867  3 003  341 826 0.950 1 938 362 27.7
50 5 0.012 0.057  66 864  3 838  324 725 0.933 1 596 536 23.9
55 5 0.016 0.077  63 026  4 862  302 974 0.905 1 271 811 20.2
60 5 0.024 0.114  58 164  6 621  274 266 0.863  968 837 16.7
65 5 0.035 0.162  51 543  8 362  236 809 0.799  694 570 13.5
70 5 0.056 0.247  43 181  10 684  189 194 0.705  457 761 10.6
75 5 0.087 0.358  32 497  11 648  133 363 0.594  268 567 8.3
80 5 0.128 0.481  20 848  10 031  79 165 0.477  135 204 6.5
85 5 0.179 0.603  10 818  6 526  37 775 0.366  56 039 5.2
90 5 0.237 0.710  4 292  3 049  13 839 0.271  18 264 4.3
95 5 0.300 0.796  1 243   989  3 744 0.154 d  4 425 3.6

100 ω 0.373 1.000   254   254   681   681 2.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


